Tkw rubber ABCD is originally square. Afier deformation = shepe
polygonal line AB’C’D’. :

- the average shear strain 7,, at point A.

the average normal strains along the diagonal AC and e EF.

ions are in millimeters (mm).
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of aluminum alloy is 40 in.|long. The stress-strain diagram for the material is shown in

o (psi)
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‘ PROBLEM3: (25 points) 20

Wy

Riggd bar AB is pin-supported at A, and is intended to be conneoted to the two bars CD and EF,
haying the lengths and properties shown (£, and 4), By mistake, the manufacturer made bar €D with a
length greater than Z; by an amount equal o o, .

What are the forces P, and Py in bars €D and EF respectively when they are conneeted to bar AB?
Assume that Hooke's law applies for two bars CD and EF.
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PROBLEM 4: (20 points) . s
ds A an acted upon
A solid circular shaft 4B, of constant JG, with .ﬁxl:d ts_luppr:‘m b cuts
distributed torque ¢ that varies linearly as shown in the figu

i f o, JG and L.
a) Determine the reactive torques 7 and 7}; in tir;“: :1 mffmum?
b) For what distance x will the angle of twist ¢

i ?
¢) What is the corresponding angle of twist ¢
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